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[ General Instructions to Candidates :

. There is a ‘Cool-o.ff Time’ of 15 minutes in addition to the writing time.

. Use the ‘Cool off Time’ to get familiar with questions and to plan your answers.
. Read questions carefully before answering.

. Read the instructions carefully.

. Calculations, figures and graphs should be shown in the answer sheet itself.

. Malayalam version of the questions is also provided.

. Give equations wherever necessary.

. Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 4. Each carries

1 score.

1. Pick the odd one out :
(a) Doctor
(b) Lawyer
(¢} Driver

(d) Engineer

2.  Green revolution : Agriculture

Golden revolution :

(a) Fish
(b) Horticulture
(¢) Milk
(d) Gold

3. Ogives can be helpful in locating

graphically the :

(a) Mode
(b) Median
(¢) Mean
(d) None

4.  Which of the following countty has the

highest literacy rate ?
(a) China

(b) Pakistan

(¢) India

(d) India and Pakistan
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4x1=4
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(a) Mode

(b) Median

(¢) Mean

(d} None
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(a) China

(b) Pakistan

(¢) India

(d) India and Pakistan



Answer all questions from 5 to 11. Each

5 Mm@ 11 QSIS ag)e)d 8.alBeBldanio

carries 2 scores. 7x2=14 | HEBOORL)MH. 0BT 2 8mpod Aflmoe.
7x2=14
6. Differentiate : 5. QUGIIOQSED :
Formal workers Informal workers
(800120018 H®OFI08lS:R) | (@MIal210E]8 HmMOIFIRIOElE: @)
6. Construct index number using the | ¢ 0100 (DA HEO: *
data :
Items : A B C D E F
Pricein1990 : 25 40 100 80 45 90
Pricein2000 : 60 75 110 70 85 80
7. List out some positive impacts of British | o ey eI, @osmOTO) BNgEmGd
rule in India. (TU&S-HQ,:FOGQJ;&-
8. Explain the different uses of statistics | 8.  oMUEWI & RO(RETI@
in Economics. V006U MBI 60 HalEWINEBR
aflaudlae)ss.
9. Draw scatter diagram for the |9  MORd WO AUIEWESS: :
following :
(a) Perfect positive correlation (@) audlaydem entomilcilal cuanenimwe
(b) Perfect negative correlation (b) aidlaydem emngal manenimwoe
10. Match the following : 10. G2I®loa!S) BIDEYS: :
(@) NABARD 1995 (@ NABARD 1995
(by TISCO 1982 (b) TISCO 1982
(¢} Planning 1907 (¢) Planning - 1907
(d) WTO 1951 (d) WTO 1951
11. Describe the relationship between | 11. QMiady @eIwmallo @M atil s
Human Capital and Human aljGROM@Iw)o ®aiensg  suMwo
Development. afludleess.
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Answer any 8 questions from 12 to 20. Each

carries 3 score.

12.

130

14.

15.

16.

8x3=24

Global warming is a serious issue in the
world. Do you agree ? Justify.

Import substitution policy protects our

domestic industries. How ?

You want to conduct a statistical survey
related to the scarcity of drinking water
in your Panchayath.

(a8) Which is the method of data
collection would you use for the
survey ?

(b) Justify your selection.

Recently, in Kerala the major political
parties and social-welfare organizations
are calling for organic farming. Organic
farming is one of the important strategy
for ‘sustainable development' in our
economy.

How does organic farming become a
sustainable

sfrategy for

development ?

Group the following features pertaining
to the economies of India, Pakistan and
China under three heads.

(a) One-child norm

(b) High degree of urbanization

(¢) Mixed economy

(d) Large population

(e) High density of population

() Very high fertility rate
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17.

18.

19.

20.

The marks obtained by 40 students in
economics class test are given :

25, 8, 15, 32, 30, 45, 8, 15, 52, 65, 73, 70,
45, 24, 17, 24, 24, 24, 30, 45, 42, 53, 62, 78,
4, 38, 32, 30, 42, 51, 18, 27, 16, 9, 63, 41,

33, 33, 39, 40

Prepare a frequency distribution with
classes as 0-10, 10-20, 20-30, etc .......

CPI is retail price index. List out it's
uses.

Sustainable development requires some
new strategies for development.
Identify any six of them.

List the steps needed in a project.

Answer any 3 questions from 21 to 24. Each

carries 4 score,

21.

22.

3x4=12

The following data shows daily wages
of 11 families. Compute the range and
quartile deviation.

Wages : 20, 25, 29, 30, 35,

Development of rural areas is essential
for India’s over all development. Give a
suggestion for further development in
rural areas by considering rural credit
and agricultural marketing.
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17.

40 83510 MVONLEDIE: WIREBIOG
o esqiimd emslw 0dde016@
OISO @86

25, 8, 15, 32, 30, 45, 8, 15, 52, 85, 73, 70,
45, 24, 17, 24, 24, 24, 30, 45, 42, 53, 62, 78,
4, 38, 32, 30, 42, 51, 18, 27, 16, 9, 63, 41,
33, 33, 39, 40

18.

19.

20.

39, 41, 48, 51, 60,

22.

0 -10, 10-20, 20-30,..... agyM RIS
ojulemicd  apuyeml  afllemeemo
BQI0IHE) B>

afigio alle avjallawoseny CPI. sooledg
£aIBWOINGBRRD ()2l flBe).
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23. Calculate correlation coefficient

between X and Y and comment on their

23.  (LADENINW EMOERo 6Nl lisla) X po

Y @io manlengs sunwees @)olal’

relationship. @REIdQo alOW s,
X[-31=-2;7-1[1 2
Y| 91 4 1 1 4
24. The stagnation in agriculture during the | 24. a0Odl® QllgJAIBEMOSIEYE] OBOBBOMIWED

colonial rule was permanently solved by
the Green Revolution. Discuss.

Answer any 2 questions from 25 to 27. Each

carries 5 score. 2x5=10

25. Daily wages earned by 40 workers is

BREMBILIOED @:0daH]8: qPo/MININUD
al@laOBlee6s) - 210g) 01Q .

25 0)®@ 27 UOAWIS] apem®ILlo 2
G2 I0QIEMBRLE HEDOODEIMIS. SGONMIIMmo
5 aapod aflmo. 2x5=10

given below. Calculate coefficient of | 25. 40 emovlengleges MIey Hel @oey
variation. omldlenimmy.  aflaeem  !IEMIo
6130 [15]86)):.
Wages o0 | 100 | 150 | 200 | 250 | 300
. No. of workers | 2 5 9 14 2
26. Discuss major anti-poverty programmes
in our nation. 26, (UWIMES GoalEy mIdaeddeam
LGS ol 2iba e.2IQs:.
27. The following are the marks obtained by

30 students in a classroom. Draw | 27. &) oqy oyalear 30 allayddmaled
histogram and find mode. eamslw @IdBNSH@D  ®mMIAlee M.
ERDWMICGDEUO (LIDA] 6TLANYEIEH BI6Md.
Marks 10-20]20-30 | 30-40 | 40-50
No. of students 5 8 10 7

FME 35/ Economics




Answer any 2 questions from 28 to 30. Each | 28 DO@ 30 WOAWIE8 ageO®mEleljo 2
carries 8 scores. 2x8=16 | G2I0QEBRAS OTBOODY)®. BGRIIMI0

28. Prepare a seminar report on the topic | 28.
“Economi¢ reforms 1991 : An
assessment”,

Area of study :

(a) employment and growth
(b) agriculture

(©) industry .

(d) disinvestment

(e) fiscal reforms

(f)  social justice and welfare

29, (a) Complete the chart : 29,

8 aopod aflmo. 9x8=16

1991681 MOMUETIS: al@lagonemdd ;| o)
alleleemad” e Ao
@M EndH6 80} amalmod dleg ods
BQOIOIHE ).

alOM GMEUA! ;

(a) e®oYlene cuadal@yo

(b)  yasd

(¢} QMo

(d) oflesalo alldcuelsendd

(e) WM aiElagoeraud

() ovomeny dleliwo esmmaiio

(@) 21003 aydlaflace.

Infrastructure
@DOBD SQISM

Economic \
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(b) Critically examine the role of (b) mopyes @O

energy and health sectors in our agIsMO/lHVMEDIER ©od2eR -

infrastructural development. @DEEOY) GCOILIMHBIOS al®;
alladvemaieadl
aI@lEUOUI@IB6)H> ?

30. Calculate mean, median and mode.

30. @OWyo, MOWYMH0, MIaDYRIO ag)MMIal

Br06M}bs.
Marks No. of students
More than 25 200
More than 30 180
More than 35 155
More than 40 80
More than 45 40
More than 50 20
More than 55 10
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